Substitution worksheet

Find the intersection of each of the following pairs of lines using Substitution:

1.

2

10.
11.

12
13
14

15.
16.
17.

18

19.
20.
21.
22.

23

24.
25.
26.

27

x:§y+2,x:2y+—5

r=—-y+8 x4+ (-2)y=14

L —=2y= -8, x =y + —2

—x—by=—14, 2 =-Ty+ 3

. =6+ (=5)y=-9,y=—z+
. y:%lx—i—%, br+8y =4
x4+ Ty=—-1,x=-5y+ -1

Ly=22+% 204+ (-5)y=-5

—3(;—2y:—11,x:%Egy—i—‘gl
x:—3y+_77,y=%1x+%9
y=2a++, —6x—16y = —1
—3x+6y =12, =3y + —4
y=5r+ -3, x=y+ 14
y=ZFr+5,r=73y+-3
TEFYTL Y= ety
y=izty =i+
r=y+ -3, 7o — 5y = —8
—Tw—6y =8, 1= 2y + 3
r=1Iy+2 204 (-2)y=-7
y:—8x,m:%y+%3
z=3y+ 2, —do—(—2)y=-1
—r—(—y)=12,y=2z+ 3
y=3r+5,2x —2y=—7
y=2r+-1,y="r+-1
x+5y:—4,a::_723y+_75
y=iz+I y=32zr+-1

—2r—3y=—-1,z=-3y+ —10

28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
o1.
52.
53.
o4.

y=getg o=yt o
—r 4 (=6)y =15,y = [ + 55
r+y=—-1y=—4r+13

r=Fy+—4,2-(-2y=11
= —6y+8, 4r + 19y = —12
y =2z + —8, 10x — 5y = 40
dr+2y=0,y= -2z
y=Fr+ 7 r=3y+ 5
y:—x—i—lO,x:%‘%y—i—g
y=Fr+ 5 r=3y+]
y=Fr+ 3, —Tr—5by=-14
x:%y—i—%,x:%y—l—él
r=Zy+3, —Tov+(—8)y=38
r=Iy+3,y=30+3
y:ngL%,y:ngL%l

x =5y —+ —12, 62 — 35y = —5
y=sr+3, 2=3y+-5

6r —5y =9, z=y+11
y:;ix—i-%,y:%x‘i_%l
r=—y+9,0=1y+ 3
x=2y+10, =5z — (—5)y =7

-1
2

Sr+3y=11,y= o+
r=y+ —10, —6x 4+ 2y = —11
Oz +5y="T,0=2y+ 3
94Ty =—8, 1=7Fy+ 3
—2x—y:1,y:%4x+2

y=-x+2, xr=—y+12
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Substitution worksheet

25.
96.
57.
28.
29.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.
76.
77.

y=Ilv+2 z=y+-14
r=Sy+3,z==y+ -1
r=—Ty+3, Tx +47y = —12
y=j30+ =3 y=3x+-3
T=y+2,y=ir+3
x—y:6,x:%y+_y7
y=—-x+-3,3x—(-3)y =—-9

w

—T — <_5)y: _67 Yy = %.T—{— _1

—_

6x—7y:12,y:gx+g
—3r+3y=-8 y=23r+=L

y=>2a+22="y+1

—27 + (—=6)y = —10, v = =2y + -3

4
—r—6y=—-5y=[r+ 5
x:%y+§, —b6x +2y = —1

— _ =5 4
—Sr—=3y=152==y+ =
x=—-Ty+9, 7Tx — (—47)y = —15

_ _1 7
4o+ (=3)y =10,z =3y + 3

—dr — (—y) =13, v =y + —13

—6z — (=b)y =14, y=z+ 3

T4+ (=By=-8 y=r+ Ty
x:—7y+11,x:_711y+—2

—2x—dy=4, =S y+ 3

78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.
100.

r=—dy+2,0=—dy+1
y=1r+2 —6z— (—44)y = —10
x =6y -+ —12, —Tx — (—46)y = —2
y=2z, —8x—(—4)y=0
y=Fot o= -Ty+-14
r—(—-2)y=-3,v=—06y+13
20— (3)y=-T,0=Fy+?%
y =4z + —3, =20z + 5y = —2
y=32z+3y=4z+ 11
y=—r+—13, —x — by = —15
5z 4 (—3)y =11, y = Fa + =1
—6a + Ty = =5,y = 3w+ 3
—6r+4y=52=1y+3
r=Fy+8 r="y+ 3

T+ (=Ty=—-10, z = Ly + 3
r=—y+-5y=Fr+-2
y=Zto+ -2, 6+ (—40)y =4
y=2x+3,c=—-y+7
r=y+14, 2z +y=—12
y:%x—i—?),x:%gy“‘%l
y=Z2a+ 3, do— (—4)y=—6
3r+ (—2)y=—4,y=S30+3

b —by=—-2,y=23z+1
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Substitution worksheet

Solutions:
1. =16,y = %
2. z2=10,y = -2
3. x=4,y=6
4ow=2y=F
5. 0=% y=-31
6. =0,y = %
7.z2=-1,y=0
8. None. They are par-
allel.
—29
_ 19 . _ —11
10. = = 2 Y=
1. z=4, y=-2
12. x=—-4,y =
_ -1 , _ —67
13. 2==y==7"
14. = -39, y =30
15, ==L y=9
_ —69
17. = = %, Y= %
18. z=-14,y =15
19. z == y=-26
20. None. They are par-
allel.
21. x = -3,y =32
22, z=-21,y=-9
23. x = _Tg, Yy = %
24. The Entire Line
25. T = _§7,y:%

26.
27.
28.
29.
30.
31.
32.
33.
34.
35.

36.
37.
38.
39.
40.
41.

42.

43.
44.
45.
46.
47.
48.
49.
50.

r=2y=4
r=11,y= -7
=43, y=—12

v=24y==7
r=4,y==3"
r="P y=7
r=y=%
The Entire Line

The Entire Line

None. They are par-
allel.

z=-20,y=30
r=7y=%
z=-—6,y=—-20

z=—120, y = 104

allel.

w——79,y—_Tﬁ7
r=23,y=28
r = —46, y = —57

x =222, y=1>59
r=2%y="%
v=y=="

51.

52.
53.

54.

95.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.

None. They are par-
allel.

The Entire Line
r=73,y=8

None. They are par-

_ —225 33
rT=""_:Y=73
_4 ., _ —13
rt=5Y="5
r=-2,y=—-4

4 1
r=F.y=%
The Entire Line

r=51l,y=9
w=138 4y 108
z=2y=6

x=—175,y="T7

z=-91,y=32

x:92,y:—_229
_ 41
x_’?:y_?
_ =87 __ 125
rT="721-Y¥="7

z =264,y =39

r=5,y=4
r=0,y=13
x:—Z,y—%?’
a::_Tm,y:—Qél
o=,y -

77.
78.

80.
81.
82.
83.
84.

85.

86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.

100.
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. x:—_?‘g,y:%
x=-36,y=17

None. They are par-
allel.

L =-233,y=—-32

r=-141,y= =2

The Entire Line

v=14ty=3
r=—11,y=4

r=-23,y=13

None. They are par-
allel.

ro oty
x:g,yzlll
T = 42,y:%7
=2 y="7
r=—-12,y="7
r = 266, y = —40

r=3y="%4
T=-2,y=—16
:c:_1245,y—32

r=1y= 2
r=—18 y=-25
The Entire Line
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